
F
eb
ru
ar
y



February 2023

RODRUNNER REF NO: LS-BU-1006 ADAPTABLE BUICK

Stabilizer Bar Link

Weight: 0,387

LACROSSE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2017- Front Right 23177280

Length: 192 Bolt Metric: M12X1,75

W/Performance
Suspension

RODRUNNER REF NO: LS-BU-1007 ADAPTABLE BUICK

Stabilizer Bar Link

Weight: 0,387

LACROSSE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2017- Front Left 22946081

Length: 192 Bolt Metric: M12X1,75

W/Performance
Suspension

www.rodrunnerparts.com 1



February 2023

RODRUNNER REF NO: LS-CH-1176 ADAPTABLE CHEVROLET

Stabilizer Bar Link

Weight: 0,422

EQUINOX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2018- Front 84517192, 84134172

Length: 305 Bolt Metric: M12X1,75

RODRUNNER REF NO: LS-CH-1176 ADAPTABLE GMC

Stabilizer Bar Link

Weight: 0,422

TERRAIN

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2018- Front 84517192, 84134172

Length: 305 Bolt Metric: M12X1,75

www.rodrunnerparts.com 2



February 2023

RODRUNNER REF NO: LS-CH-1196 ADAPTABLE CHEVROLET

Stabilizer Bar Link

Weight: 0,429

CRUZE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

D2LC 2016- Front Right 42705814

Length: 307 Bolt Metric: M12X1,75

LT-Model

RODRUNNER REF NO: LS-CH-1196 ADAPTABLE CHEVROLET

Stabilizer Bar Link

Weight: 0,429

VOLT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2016-2019 Front Right 42705814

Length: 307 Bolt Metric: M12X1,75

LT-Model

www.rodrunnerparts.com 3



February 2023

RODRUNNER REF NO: LS-CH-1197 ADAPTABLE CHEVROLET

Stabilizer Bar Link

Weight: 0,429

CRUZE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

D2LC 2016- Front Left 42705813

Length: 307 Bolt Metric: M12X1,75

RODRUNNER REF NO: LS-CH-1197 ADAPTABLE CHEVROLET

Stabilizer Bar Link

Weight: 0,429

VOLT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2016-2019 Front Left 42705813

Length: 307 Bolt Metric: M12X1,75

www.rodrunnerparts.com 4



February 2023

RODRUNNER REF NO: TC-CH-1268 ADAPTABLE CHEVROLET

Lateral Arm

Weight: 1,89

TRAILBLAZER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

KC 2002-2009 Rear Lower 521979, 15069837, 15070033

Length: 443

W/O Auto Air Level
Control

RODRUNNER REF NO: TC-CH-1268 ADAPTABLE BUICK

Lateral Arm

Weight: 1,89

RAINIER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2004-2007 Rear Lower 521979, 15069837, 15070033

Length: 443

W/O Auto Air Level
Control

www.rodrunnerparts.com 5



February 2023

RODRUNNER REF NO: TC-CH-1268 ADAPTABLE GMC

Lateral Arm

Weight: 1,89

CANYON

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2004-2012 Rear Lower 521979, 15069837, 15070033

Length: 443

W/O Auto Air Level
Control

RODRUNNER REF NO: TC-CH-1268 ADAPTABLE OLDSMOBILE

Lateral Arm

Weight: 1,89

BRAVADA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2002-2003 Rear Lower 521979, 15069837, 15070033

Length: 443

W/O Auto Air Level
Control

www.rodrunnerparts.com 6



February 2023

RODRUNNER REF NO: TR-CH-1281 ADAPTABLE CHEVROLET

Tie Rod End

Weight: 0,739

SILVERADO 1500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen,
GMT800

1999-2006 Front ES800612, 26102900

Length: 114 Bolt Metric: M14X2 Housing Metric: M14X1,5

HD; with 4 Wheel
Steering

YEAR ONLY
2002-2006

RODRUNNER REF NO: TR-CH-1281 ADAPTABLE CHEVROLET

Tie Rod End

Weight: 0,739

SILVERADO 2500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen,
GMT800

1999-2010 Front ES800612, 26102900

Length: 114 Bolt Metric: M14X2 Housing Metric: M14X1,5

HD; with 4 Wheel
Steering

YEAR ONLY
2002-2004

www.rodrunnerparts.com 7



February 2023

RODRUNNER REF NO: TR-CH-1281 ADAPTABLE GMC

Tie Rod End

Weight: 0,739

SIERRA 1500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 1999-2007 Front ES800612, 26102900

Length: 114 Bolt Metric: M14X2 Housing Metric: M14X1,5

HD; with 4 Wheel
Steering

YEAR ONLY
2002-2006

RODRUNNER REF NO: TR-CH-1281 ADAPTABLE GMC

Tie Rod End

Weight: 0,739

SIERRA 2500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 1999-2010 Front ES800612, 26102900

Length: 114 Bolt Metric: M14X2 Housing Metric: M14X1,5

HD; with 4 Wheel
Steering

YEAR ONLY
2002-2004

www.rodrunnerparts.com 8



February 2023

RODRUNNER REF NO: AJ-CI-663K ADAPTABLE CITROEN

Tie Rod Kit

Weight: 0,681

JUMPY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

III 2016- Front 9820340280

Length: 265,2 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

RODRUNNER REF NO: AJ-CI-663K ADAPTABLE CITROEN

Tie Rod Kit

Weight: 0,681

SPACETOURER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2016- Front 9820340280

Length: 265,2 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

www.rodrunnerparts.com 9



February 2023

RODRUNNER REF NO: AJ-CI-663K ADAPTABLE PEUGEOT

Tie Rod Kit

Weight: 0,681

EXPERT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

V 2016- Front 9820340280

Length: 265,2 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

RODRUNNER REF NO: AJ-CI-663K ADAPTABLE TOYOTA

Tie Rod Kit

Weight: 0,681

PROACE VERSO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2016- Front 9820340280

Length: 265,2 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

www.rodrunnerparts.com 10



February 2023

RODRUNNER REF NO: TR-DO-1021 ADAPTABLE DODGE

Tie Rod End

Weight: 0,884

RAM 2500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 1994-2001 Front Left
Outer

ES3248RT, 52037575

Length: 97,8 Bolt Metric: M14X1,5 Housing Metric: 1"18G UNF

RODRUNNER REF NO: TR-DO-1021 ADAPTABLE DODGE

Tie Rod End

Weight: 0,884

RAM 3500

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 1994-2001 Front Left
Outer

ES3248RT, 52037575

Length: 97,8 Bolt Metric: M14X1,5 Housing Metric: 1"18G UNF

www.rodrunnerparts.com 11



February 2023

RODRUNNER REF NO: TC-DS-108 ADAPTABLE DS

Control Arm and Ball Joint
Assembly

Weight: 3,425

7

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

J 2017- Front Right 9800596580, 9815396280

Length: 395 Bolt Metric: M14X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-DS-104
Suspension

Ball Joint
Front 9815396280

BC-SB 936
Control Arm

Bushing
Front Inner

Part of 9816865480, Part of
9816865580

BC-SB 937
Control Arm

Bushing
Front Outer 9678311280*, 9678311380*

RODRUNNER REF NO: TC-DS-109 ADAPTABLE DS

Control Arm and Ball Joint
Assembly

Weight: 3,425

7

MODEL NO BODY YEAR DIRECTION OEM NO

J 2017- Front Left 9800596680, 9815396280

Length: 395 Bolt Metric: M14X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-DS-104
Suspension

Ball Joint
Front 9815396280

BC-SB 936
Control Arm

Bushing
Front Inner

Part of 9816865480, Part of
9816865580

BC-SB 937
Control Arm

Bushing
Front Outer 9678311280*, 9678311380*

www.rodrunnerparts.com 12



February 2023

RODRUNNER REF NO: BJ-F-1034 ADAPTABLE FIAT

Ball Joint

Weight: 0,218

PANDA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

(141A) 1980-2003 Front Upper 5976943

Length: 78 Bolt Metric: M10X1,25

4x4

RODRUNNER REF NO: LS-FO-1536 ADAPTABLE FORD

Stabilizer Bar Link

Weight: 0,806

F-350 SUPER DUTY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2016- Rear K80575, 2C2Z5K483AA,
F81Z5K484AA

Length: 264 Bolt Metric: M10X1,75

10.39 (in) Stud to Stud

www.rodrunnerparts.com 13



February 2023

RODRUNNER REF NO: LS-FO-1536 ADAPTABLE FORD

Stabilizer Bar Link

Weight: 0,806

F-450 SUPER DUTY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2016- Rear K80575, 2C2Z5K483AA,
F81Z5K484AA

Length: 264 Bolt Metric: M10X1,75

10.39 (in) Stud to Stud

RODRUNNER REF NO: LS-FO-1536 ADAPTABLE FORD

Stabilizer Bar Link

Weight: 0,806

F-550 SUPER DUTY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2016- Rear K80575, 2C2Z5K483AA,
F81Z5K484AA

Length: 264 Bolt Metric: M10X1,75

10.39 (in) Stud to Stud

www.rodrunnerparts.com 14



February 2023

RODRUNNER REF NO: LS-FO-1556 ADAPTABLE FORD

Stabilizer Bar Link

Weight: 0,43

BRONCO SPORT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2021- Front LX6Z5K484E

Length: 318 Bolt Metric: M12X1,25

RODRUNNER REF NO: LS-FO-1556 ADAPTABLE FORD

Stabilizer Bar Link

Weight: 0,43

ESCAPE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

4th Gen 2020- Front LX6Z5K484E

Length: 318 Bolt Metric: M12X1,25

www.rodrunnerparts.com 15



February 2023

RODRUNNER REF NO: LS-FO-1556 ADAPTABLE FORD

Stabilizer Bar Link

Weight: 0,43

MAVERICK

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2022- Front LX6Z5K484E

Length: 318 Bolt Metric: M12X1,25

RODRUNNER REF NO: LS-FO-1556 ADAPTABLE FORD

Stabilizer Bar Link

Weight: 0,43

MUSTANG

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2021- Front LX6Z5K484E

Length: 318 Bolt Metric: M12X1,25

Mach-E

www.rodrunnerparts.com 16



February 2023

RODRUNNER REF NO: TR-FO-1871 ADAPTABLE FORD

Tie Rod End

Weight: 0,496

ECOSPORT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen / BK 2012- Front Right GN1Z3A130B

Length: 108 Bolt Metric: M12X1,75

YEAR ONLY
2018-

RODRUNNER REF NO: TR-FO-1872 ADAPTABLE FORD

Tie Rod End

Weight: 0,496

ECOSPORT

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen / BK 2012- Front Left GN1Z3A130A

Length: 108 Bolt Metric: M12X1,75

YEAR ONLY
2018-

www.rodrunnerparts.com 17



February 2023

RODRUNNER REF NO: LS-HY-1116 ADAPTABLE HYUNDAI

Stabilizer Bar Link

Weight: 0,535

IONIQ V

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2022- Front Right 54831GI000

Length: 337 Bolt Metric: M12X1,25

RODRUNNER REF NO: LS-HY-1117 ADAPTABLE HYUNDAI

Stabilizer Bar Link

Weight: 0,535

IONIQ V

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2022- Front Left 54830GI000

Length: 337 Bolt Metric: M12X1,25

www.rodrunnerparts.com 18



February 2023

RODRUNNER REF NO: LS-HY-1126 ADAPTABLE HYUNDAI

Stabilizer Bar Link

Weight: 0,38

IONIQ V

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2022- Rear Right 55531GI000

Length: 109,5 Bolt Metric: M12X1,25

RODRUNNER REF NO: LS-HY-1127 ADAPTABLE HYUNDAI

Stabilizer Bar Link

Weight: 0,38

IONIQ V

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2022- Rear Left 55530GI000

Length: 109,5 Bolt Metric: M12X1,25

www.rodrunnerparts.com 19



February 2023

RODRUNNER REF NO: TC-HY-1128 ADAPTABLE HYUNDAI

Control Arm and Ball Joint
Assembly

Weight: 5,243

SANTA FE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

IV, TM 2018- Front Right
Lower

54501S1050

Length: 397,6

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-HY-1005K
Suspension
Ball Joint Kit

Front Lower 54530S1000

RODRUNNER REF NO: TC-HY-1128S ADAPTABLE HYUNDAI

Control Arm

Weight: 4,252

SANTA FE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

IV, TM 2018- Front Right
Lower

54501S1050*

Length: 287

www.rodrunnerparts.com 20



February 2023

RODRUNNER REF NO: TC-HY-1129 ADAPTABLE HYUNDAI

Control Arm and Ball Joint
Assembly

Weight: 5,243

SANTA FE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

IV, TM 2018- Front Left
Lower

54500S1050

Length: 397,6

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-HY-1005K
Suspension
Ball Joint Kit

Front Lower 54530S1000

RODRUNNER REF NO: TC-HY-1129S ADAPTABLE HYUNDAI

Control Arm

Weight: 4,252

SANTA FE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

IV, TM 2018- Front Left
Lower

54500S1050*

Length: 287

www.rodrunnerparts.com 21



February 2023

RODRUNNER REF NO: LS-N-1126 ADAPTABLE NISSAN

Stabilizer Bar Link

Weight: 0,3

MAXIMA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1989-1994 Front K9543, 546184Z000, 5461850Y00

Length: 85 Bolt Metric: M10X1,25

RODRUNNER REF NO: LS-N-1126 ADAPTABLE NISSAN

Stabilizer Bar Link

Weight: 0,3

NX

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

100, B13 1990-1994 Front K9543, 546184Z000, 5461850Y00

Length: 85 Bolt Metric: M10X1,25

www.rodrunnerparts.com 22



February 2023

RODRUNNER REF NO: LS-N-1126 ADAPTABLE NISSAN

Stabilizer Bar Link

Weight: 0,3

SENTRA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

B12-N13 1985-1990 Front K9543, 546184Z000, 5461850Y00

Length: 85 Bolt Metric: M10X1,25

RODRUNNER REF NO: TC-N-1418 ADAPTABLE NISSAN

Lateral Arm

Weight: 0,992

PATHFINDER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

R52 2014-2021 Rear 551103JA0B

Length: 292

www.rodrunnerparts.com 23



February 2023

RODRUNNER REF NO: TC-N-1418 ADAPTABLE INFINITI

Lateral Arm

Weight: 0,992

JX35

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2013-2020 Rear 551103JA0B

Length: 292

RODRUNNER REF NO: TC-N-1418 ADAPTABLE INFINITI

Lateral Arm

Weight: 0,992

QX60

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2014-2020 Rear 551103JA0B

Length: 292

www.rodrunnerparts.com 24



February 2023

RODRUNNER REF NO: TC-N-1418 ADAPTABLE NISSAN

Lateral Arm

Weight: 0,992

MURANO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

Z52 2014- Rear 551103JA0B

Length: 292

RODRUNNER REF NO: TC-O-1108 ADAPTABLE OPEL

Control Arm and Ball Joint
Assembly

Weight: 2,562

CORSA E

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2019- Front Right 9831621480

Length: 361,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-P-1034K
Suspension
Ball Joint Kit

Front
9824626780, 9831682780*,

9831682580*

BC-OP-BS140
Control Arm

Bushing
Front Inner 9832039280*, 9831626480*

BC-OP-BS141
Control Arm

Bushing
Front Outer 9832039280*, 9831626480*

ELECTRIC DRIVE
TRAIN

www.rodrunnerparts.com 25



February 2023

RODRUNNER REF NO: TC-O-1108 ADAPTABLE PEUGEOT

Control Arm and Ball Joint
Assembly

Weight: 2,562

E-208

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2019- Front Right 9831621480

Length: 361,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-P-1034K
Suspension
Ball Joint Kit

Front
9824626780, 9831682780*,

9831682580*

BC-OP-BS140
Control Arm

Bushing
Front Inner 9832039280*, 9831626480*

BC-OP-BS141
Control Arm

Bushing
Front Outer 9832039280*, 9831626480*

ELECTRIC DRIVE
TRAIN

RODRUNNER REF NO: TC-O-1109 ADAPTABLE OPEL

Control Arm and Ball Joint
Assembly

Weight: 2,562

CORSA E

MODEL NO BODY YEAR DIRECTION OEM NO

2019- Front Left 9831683580

Length: 361,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-P-1034K
Suspension
Ball Joint Kit

Front
9824626780, 9831682780*,

9831682580*

BC-OP-BS140
Control Arm

Bushing
Front Inner 9832039280*, 9831626480*

BC-OP-BS141
Control Arm

Bushing
Front Outer 9832039280*, 9831626480*

ELECTRIC DRIVE
TRAIN

www.rodrunnerparts.com 26



February 2023

RODRUNNER REF NO: TC-O-1109 ADAPTABLE PEUGEOT

Control Arm and Ball Joint
Assembly

Weight: 2,562

E-208

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2019- Front Left 9831683580

Length: 361,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-P-1034K
Suspension
Ball Joint Kit

Front
9824626780, 9831682780*,

9831682580*

BC-OP-BS140
Control Arm

Bushing
Front Inner 9832039280*, 9831626480*

BC-OP-BS141
Control Arm

Bushing
Front Outer 9832039280*, 9831626480*

ELECTRIC DRIVE
TRAIN

RODRUNNER REF NO: LS-P-412A ADAPTABLE PEUGEOT

Stabilizer Bar Link

Weight: 0,362

406

MODEL NO BODY YEAR DIRECTION OEM NO

1995-2004 Rear 5178,38, 9615230080

Length: 160 Bolt Metric: M10X1,5

Steel Type

www.rodrunnerparts.com 27


